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Which of the fu“uwing does

' - not describe the nature 1. .
1.10 Egj}f;: .IS l‘llz)rmatwc in nature. ¢ the nature of business economics 7
: purely theoretjc
(©) Itisan art. Y etical,

(D) 1t incnrpurates elements of

' 2. “Buyers ultimar. : :
\o‘ ¢ wiat UL:IT;’:?IEI{ deternsme Wwhich goods and services will be produced and

\\, q 1€8.” The given Statement is th meaning of ;
o (A) _Planned €conomy ‘

| onsumer Sovereignty
( Freedom of €Conomic chojce (D) Freedom of enterprise

Macro Analysis,

3. Which of the follow

ing
€Cconomy ?

’\'"If" \;;) What to produce ?

) Where to produce ?
(C) For whom to produce ?

IS Not one of the four basic €conomic problems of an

(D) What Provisions are tg be made for economic growth ?

4. Fusanse minister was discussing, balance of trade and balance of payments.
This area comes under :

(A) Micsn Economics | \,({}- Macro Economics
(C) Capitalist Economy (D) Mixed Economy

S.  Which of the following is an example of normative statement ?
(A) The demand for a good will increase if its price decreases.

\LB}” The government should increase taxes on
consumption.

(C) A decrease in interest rates will lead to an Increase in investment.
(D) An increase in government spending will reduce the unemployment rate.

liquor to reduce its

6.  When some people start investing money in share market then many people

start following the same without considering its advantages and disadvantages
is an example of :

(A) Veblen effect \{4 Bandwagon Effect
(C) Snob Effect (D) Sheep Effect

+  ‘Cetenis Paribus’ is a Latin phrase that generally means :
All other things being equal
(B) An inverse relationship
(C) income of consumers
(D) tastes and preferences of consumers
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